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ENGLISH VERSION

Instructions : (1) Figures to the right hand side indicate marks.

(2) All questions are compulsory.

1 (a) Explain Total Revenue Curve and state its uses.
(b) Explain Demand and Supply.
(©0 Explain Demand Elasticity and state the uses of
demand elasticity.
(d Explain Demand Curve and Supply Curve.
OR
1 (@ Given demand function x = 60 — 3P and cost function
C= SO—I—%, find the maximum profit.
() Following are the functions of demand and supply
for this find market equilibrium price and quantity.
x o x?
D:x=130-4P and S P=10+—+—
5 100
(¢ If the demand function of a monopolist is
P=32—-4x and its average cost is Rs. 8 then find
maximum profit.
2 Explain :
(1) Homogeneous production functions.
(2) Elasticity of productivity.
(3) Monopoly
4) Production function.
OR
2 (@) State and prove Euler’s theorem for n'h degree
homogeneous production function.
() Verify the Euler’s theorem for the following

production function.

Z=x2 )2
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If the production function is Z =10———— and the 10

costs of x, y, z are 4, 5, 9 respectively per unit,

then find the maximum profit.

Explain : Utility and Marginal utility.

The utility function of consumer is U = xy + 2x and 10

budget equation is 4x + 2y = 60. Find the value of x
and y such that utility U becomes maximum. Also find

the maximum utility.

OR

Explain : Utility function and Budget equation. 5

The utility function of a consumer is U=4x%y3 and 10

budget equation is x + 2y = 12. find the value of x and
y such that utility U becomes maximum. Also find the

maximum utility.

Explain in brief input-output analysis for two 5

industries.

Coefficient matrix for two industries A and B are 10

given below :
A B
01 03
0.6 0.2}

A
B

Find the total production for industries A and B for

final demands are 30 and 100 respectively.
OR

4 In an economy of industries A and B, the data given 15

below are available. Find the gross output for each

industry for final demands 500 and 5000 units respectively.

Input| Industry Final Total
Output A Demand Production
Industry
A 500 400 2500
1750 4650 8000
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